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L= B

el

3
JI=HaUES 22
g2 £ 28 9 2

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 88,116
207 O] 88,116 88,116 0
J| 88,116
01 289 88,116 88,116 0
O sl AEAHE olHE It 55,000
J| 55,000
OgEdae s A2ZA4 2LUHE 33,116
J| 33,116
HE I &2 1,783,952 1,318,370 465,582
= 881,440
J| 18,511
< 127,252
Al 756,749
olegsdy 24 N2 25,667 25,667 0
< 7,700
Al 17,967
201 £B-2dH| 25,667 25,667 0
< 7,700
Al 17,967
02 =524l 25,667 25,667 0
OIIEEdaEA Fx& KX
25,667,000 =10 & 25,667
< 7,700
Al 17,967
SN RE=S B =+ 20,000 33,374 N 13,374
201 249 20,000 20,000 0
01 At 22l 8,000 8,000 0
OgZNMERE=s €28 UM A
2,000,000& *43] 8,000
02 =24l 12,000 12,000 0
OBANULLS 238 2R3
3,000,000& *43] 12,000
Jlzdstis =& 10,900 10,900 0
201 et 6,000 6,000 0
01 At 2teltl 6,000 6,000 0
ONEA: sMdE UHEEE M
600,000& 105 6,000
202 odl 4,900 4,900 0
01 S LHOIYI 4,900 4,900 0
OHPEN Y2EX o 4,900
SAAHT A H S 20,568 20,229 339
J| 18,511
< 1,029
Al 1,028
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et d = 20,568 20,229 339
J| 18,511
< 1,029
Al 1,028
12 JEEd= 20,568 20,229 339
OAdIlal FHSH X 20,568
QUME G 1,380,600& 128 16,568
J| 14,911
= 829
Al 828
RASA 4,000
J| 3,600
< 200
Al 200
sdi0oIE ®Mel N 10,200 9,000 1,200
201 B2l 10,200 9,000 1,200
01 At 22l 7,200 6,000 1,200
OsdioIE HMel AHMEA NEXE Xz
720,000& 10 7,200
02 =224l 3,000 3,000 0
OsdiolE HMel AHMEA NEXE RFA
300,000& 10 3,000
LSS0 E EH XNIAMNY 613,101 537,600 75,501
= 306,550
Al 306,551
401 Al HIZ 2018 613,101 537,600 75,501
= 306,550
Al 306,551
01 A& HI 609,238 534,214 75,024
OSdiOIE HelAe 613,100,000& *99.37% 609,238
= 306,550
Al 302,688
03 Al 2 0HHI 3,863 3,386 477
OsdiOIE HMalAY 613, 100,000& *0.63% 3,863
2HIASI HEILA M2 AHY 502,400 160,800 341,600
= 251,200
= 75,360
Al 175,840
301 et d s 502,400 160,800 341,600
= 251,200
< 75,360
Al 175,840
12JEEd= 502,400 160,800 341,600
ORLARA HWEIA HZAS (ZIIHXL)
1,608,000 »300CH 482,400
= 241,200

- 223 -




o

ot
Hotlhs 2
ol 2el

S

0zt
0 b OX

SN FH-SA(EN) - MBAY - BES

=
i

2

+

O
2 [0
402

e oY

30
_>£
1A
RS
>
=
oy

A (LPGSHS Xt &l
4,000,000 504

= H

= Hn

72,360
168,840

20,000
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HOIIXrES X 200 X2 (2l2H)

= N H

300,000
180,000
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84,000
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260,000

402 2I2tXt=01&

= N H
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180,000
36,000
84,000

360,000

260,000

o
OS]
e

AR EALEE(0IETHE)

OISR 704 X

15,000,000 »20CH

= HmnH

300,000
300,000

180,000
36,000
84,000

360,000

60,000

3,300

3,300

3,300

3,300

S(2F) Akl

3,300,000 12/

3,300

3,300

3,300

H

Al

12,500

6,250
6,250

52,500

A 40,000

H

Al

12,500

6,250
6,250

12,500

2,500,000& *5CH

= H

12,500
12,500

6,250
6,250

12,500

=z N W

35,000
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5,250
12,250

25,000

10,000

=z N W
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12,250

25,000

10,000

=
OO0l S xtes LPGXH MK &AL

5,000,000 «7CH

W

35,000

35,000
17,500

25,000

10,000

- 224 -




o

2N
X ZH -
L= B

el

p
B3HS el
ol 22l CERED

S

0zt
0 b OX

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
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5,250
12,250

= H

=AU ESAHY 22,316 0 22,316
15,940
1,913
4,463

= M W

402 BI2FX=01 M 22,316 0 22,316
156,940
1,913
4,463

= N W

H
N
o
ra
=
0

02 2I2tAHE ALY 22,316 0 22,316
L

,000% *2CH )+(8,904,0002 = 1CH ) 22,316

15,940

1,913

4,463

= 0 W

272 SAAMSE AL XA 208,000 0 208,000

104,000
Al 104,000

H

402 RI2HX= 01 M 208,000 0 208,000

104,000
Al 104,000

H

02 Q=AML EE(0IATHE) 208,000 0 208,000
OARZ SHNASE SRAE N AMY
104,000,000& *20H A 208,000

104,000
104,000

= H

HEH =2 A 3,598,000 4,485,000 887,000
1,735,000

282,500
1,580,500

Z M

HEfH D= EIX AL 35,000 35,000 0

10,500
24,500

= M

101 Q124 4] 8,000 8,000 0

2,400
Al 5,600

H

04012t 22 s e+ 8,000 8,000 0
OdEIHnetHE EX At 8,000

2,400
Al 5,600

H

201 fEt2E | 3,000 3,000 0

900
Al 2,100

H

01 AFR2t2lHl 3,000 3,000 0
OdHAnME EX 822 M 3,000
900

t
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2M: 33
M JIFHIIE 2l
Chel: MEj= A cHel E )
- _ _ RE]
SA - " H () - M= m gﬁ‘&i HR=2
Al 2,100
206 M = Hl 8,000 8,000 0
& 2,400
Al 5,600
01 X2 H| 8,000 8,000 0
OMEHNSME EXNES 8,000
=} 2,400
Al 5,600
301 et A= 16,000 16,000 0
& 4,800
Al 11,200
12 JIEtE2 A= 16,000 16,000 0
OMENH DM S 2=0H 16,000
& 4,800
Al 11,200
KNEMEIHESAANS (A2 S2A AL 60,000 100,000 A 40,000
o= 12,000
Al 48,000
101 124 4| 2,000 5,000 A 3,000
o= 400
Al 1,600
04 JI2ZtHIZ22NEES 2,000 5,000 A 3,000
oYz =3 22| oAyl 2,000
= 400
Al 1,600
307 giztol A 27,000 27,000 0
& 5,400
Al 21,600
02 Q2B AMAIE E =X 27,000 27,000 0
Odtda =222 sHaleld s4
o= 27,000
& 5,400
Al 21,600
401 AlEHIZ 2 0HY| 31,000 63,000 A 32,000
& 6,200
Al 24,800
01 Al&EH| 31,000 62,433 AN31,433
o =AY 31,000
= 6,200
Al 24,800
M= 1000212 243 ALY 33,000 50,000 A 17,000
o= 10,000
Al 23,000
101 e1214| 8,000 10,000 A 2,000
=} 2,400
Al 5,600
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M J=EsE 22
Chel: MEj= AN (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 JIZHHZ2XREES 8,000 10,000 A 2,000
O&=1000ci2 22l Al 8,000
< 2,400
Al 5,600
201 et 10,000 20,000 A 10,000
< 2,900
Al 7,100
01 At 22l 7,000 10,000 A 3,000
O&=10002lZ2 =Xzl L s =M 5,000
< 1,400
Al 3,600
O&=1000cl2 E22 M=% 2,000
= 600
Al 1,400
03 & At2 Gl 3,000 10,000 A7,000
O&=10002IZ ZJI & A JH = 3,000
< 900
Al 2,100
206 M= Hl 15,000 20,000 A5,000
< 4,700
Al 10,300
01 M= 4l 15,000 20,000 A5,000
O&=10002i2 HHIES + 15,000
< 4,700
Al 10,300
ME A2t TR & 1,000,000 1,300,000 A 300,000
as 500,000
< 250,000
Al 250,000
401 Al HIZ 201 8] 1,000,000 1,300,000 A 300,000
as 500,000
< 250,000
Al 250,000
01 A& HI 993,700 1,295,320 A 301,620
O Y42 WSl MEIZE UE THAY
1,000,000, 000 *99.37% 993,700
s 500,000
< 250,000
Al 243,700
03 Al S THHI 6,300 4,680 1,620
O Y2 WS MEIRE UE THAY
1,000,000,000& *0.63% 6,300
MENGHE S & ALY 2,270,000 3,000,000 A730,000
ras 1,135,000
Al 1,135,000
401 Al HI L 2 THHI 2,270,000 3,000,000 A 730,000
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2M: 83
M J=EsE 22
Chel: MEj= AN (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
e 1,135,000
Al 1,135,000
01 A& HI 2,270,000 2,989,200 A719,200
FEX MEGIE =AY 2,270,000
s 1,135,000
Al 1,135,000
&= 1000212 MEH=s =4 200,000 0 200,000
s 100,000
Al 100,000
401 AIEHI L 201 200,000 0 200,000
s 100,000
Al 100,000
01 A& HI 198,560 0 198,560
OF=Z10002/2 ez =4
00,000, 000& *99.28% 198,560
s 100,000
Al 98,560
03 A2 2 0HHI 1,440 0 1,440
OXE10002/2 ME= =4
200,000,000& *0.72% 1,440
=g A 2el 33,830 70,804 A 36,974
gaegae 33,830 70,804 A 36,974
201 et 24,700 21,674 3,026
01 At 22l 24,700 21,674 3,026
OBZ ZFEY BEZAN +42
300,000& 33 900
OUIIHEAE & HElol 532 A =3
=== 500,000 * 164 2 8,000
Ot a &= I =l 180,000& =10 1,800
OO0l LHII0tS FEAMSE PAHS ZBAl==2
7,000,000& »23] 14,000
202 04l 4,000 4,000 0
01 = LH 4 HI 4,000 4,000 0
OZXNE ERFA ol 4,000
206 M= Hl 4,630 4,630 0
01 M= 4l 4,630 4,630 0
O£ a ¥ dtd= ZAE RZ2M=+8 2L
100,000 » 1+ A 100
O3y YHss (8L ) #¢ 4,530
E==(12m) 150, 000& 52 750
SHMelM(18L ) 40,0003 7S 280
REXMXE 50,000& 10 A 500
A A 500, 000& 6K 3,000
301 et 4= 500 500 0
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SN 23D
M JIFHIIE 2l
e HiEg A 2el (2 &HH)
2 S 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
12 JIEtE2 A= 500 500 0
O&tFdgsie MDD LAS 100, 000& 521 500
SESEA 29 22 104,768 493,628 A\ 388,860
2 A 222 104,768 493,628 A\ 388,860
201 LBt | 13,800 13,800 0]
01 AP 22| d| 13,800 13,800 0
OFHEE CIMMHI(JIZS2HIESALE HIISAH)
500 = 1000 »20H 1,000
OQHUA(HAH HER, 25 S)HelE=2 10,000
OMelatE=H™elAlE £=Z2 23 AHl 10,000 x40 400
OJMelate=XMelAld HA OHHE olA4H|
400 x5000H * 1200 & 2,400
202 04| 4,000 4,000 0
01 2L HI 4,000 4,000 0
OHJIZXNE R2=& Ol 4,000
206 M = dl 46,968 66,828 A 19,860
01 X2 bl 46,968 66,828 A 19,860
OZ2=sH&EA Ssd 7
12,0002 *720 A x12& 10,368
OZ2Z&EA AS2UHE P2
10,000 «720 A x12& 8,640
OZ2Z L HYUSXA mo2E(3H&X, HS
s) ¢ 60,000 «97 1 A *43] 23,280
OeF HEEE 19 300,000& 6Nl E 1,800
OZZHA ARZE(SEXZ0l, HEZO0I
s) 7¢ 20,0003 #7200 A %232 2,880
401 Al HI L 204 HI 40,000 209,000 A 169,000
01 Al&H| 40,000 209,000 A 169,000
OZ2ZS&EA AIEE S 1,000,000 x200H 2~ 20,000
OBSs&EA sSHoAH MY AX
2,000,000 1004 &~ 20,000
IIEHs lead 144,000 137,600 6,400
= 72,000
= 24,000
Al 48,000
EtAZOIEN 120,000 110,000 10,000
= 60,000
= 24,000
Al 36,000
301 LBt A= 120,000 110,000 10,000
= 60,000
== 24,000
Al 36,000
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2M: 83
M J=EsE 22
el JIFHS HSad CEE-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
12JEEd= 120,000 110,000 10,000
OBAZEQERN QHEE X3
60,000,000& »23| 120,000
= 60,000
< 24,000
Al 36,000
HIAHEZ 24 I0tA H2ZAY 24,000 24,000 0
= 12,000
Al 12,000
201 ¢et24] 8,000 8,000 0
= 4,000
Al 4,000
01 At 22l 5,000 5,000 0
O24ItA AHALEHE 2F MZE L ALK
2 1,000, 000& x5& 5,000
= 2,500
Al 2,500
03 A2 ZHl 3,000 3,000 0
OMEA MEAMA HAFA 500,000& *63| 3,000
= 1,500
Al 1,500
301 et a3z 16,000 16,000 0
= 8,000
Al 8,000
12JIE243 16,000 16,000 0
O24ltA MHALEHE E3H X2
40,000 =400 Al CH 16,000
= 8,000
Al 8,000
Clean & =4 5,696,070 6,378,917 A 682,847
= 515,825
< 34,000
Al 5,146,245
A F el 1,310,261 935,420 374,841
= 53,000
< 20,000
Al 1,237,261
FadF e 1,183,547 800,420 383,127
101 @124 dl 35,576 30,120 5,456
4 JI2ZHHZ22XEES 35,576 30,120 5,456
Os2EZXNZT0l =2 66,8003 «522 10 34,736
Os2EZNL0 MHDEEEE
7,000 127 = «10H 840
201 Let24d] 383,940 376,200 7,740
01 At 2teltl 13,940 6,200 7,740
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2M: 33
M Clean & =4
el BAME L (B9 ®R)
. SfE|
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Ogbt424| 5,000
OMYIIsE 2210 oA 100,000& 12& 1,200
OMHIJIEeE &I 2XetE &AX
150,000 *x23H S H S *20l & 6,900
OFUXEAINZ2 SSHARAJS ¢
70,000 x6H x23| 840
02 E2=2=2%H| 370,000 370,000 0
Oxg RFHI 10,000,000 »29CH 290,000
OXg =&l 80,000
202 o4 H] 33,656 24,400 9,256
01 2Ll 24,400 24,400 0
OFAMY HRFA (| 24,400
04 =Ml st dl 9,256 0 9,256
Ostz e HA&E X ASH
1,156,910& *4H «23] 9,256
206 M = dl 142,375 156,700 N 14,325
01 X2 H| 142,375 156,700 N 14,325
OstZ0lIza a3z 2 4.500,000& *43] 18,000
oMY rAsSE ¢ 85! «1,300,0000H 110,500
OLHAEAXE A28 22 10,000,000 «1A! 10,000
OMYIIESHNH=E is228 2
775,000 «50H4 3,875
301 et A= 18,000 0 18,000
12 J|EtE A2 18,000 0 18,000
OF2tsE 240t L2 A2 18,000
308 AXIEHSOIA 270,000 0 270,000
07 AIXSHH2EESSZ2 270,000 0 270,000
QHIIZSZHEEY =2 18,000, 000kg* 15& 270,000
405 XHAHE S| 300,000 213,000 87,000
01 XA 2B F S| 300,000 213,000 87,000
OMEMHIIZE =& 2t Xt
150,000,000 =2CH 300,000
MY BZH MLANY £4HI8 K& 10,000 10,000 0
= 2,000
Al 8,000
201 LBt 9| 10,000 10,000 0
= 2,000
Al 8,000
01 AP 22| H| 10,000 10,000 0
OMHD Meldlg Xd & A8 2 10,000
& 2,000
Al 8,000
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2M: 83
HH: Clean & =4
Chel: FAdF et (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ot BRMI =HAY 75,714 84,000 A 8,286
= 53,000
Al 22,714
101 @14 Hl 73,864 81,600 AT,736
= 51,705
Al 22,159
04 JIZHHZ2XRHEE S 73,864 81,600 AT,736
OstE MY Il ZatAY elAdb] 73,864
= 51,705
Al 22,159
201 L2l 350 400 AB0
= 245
Al 105
01 At 22l 350 400 A50
OFAZE 2EFY(HIR, &3, 234 S) 350
2 245
Al 105
202 04l 1,500 2,000 A 500
= 1,050
Al 450
01 = LH 4 Hi 1,500 2,000 A 500
Osdtd Mg I HatArg 08l 1,500
= 1,050
Al 450
HESH A 5,000 5,000 0
201 Let24E] 5,000 5,000 0
01 At 22l 5,000 5,000 0
OBSEN LIAY HACT 2B, I
g) 3,240
OHB== M LA QHLH 2tE & X
880,000 *2H A~ 1,760
&2 oA D ZFEAY K& 36,000 36,000 0
= 18,000
Al 18,000
308 XX EHSOIA 36,000 36,000 0
< 18,000
Al 18,000
07 IXNHHAR S = 36,000 36,000 0
Od&l2 st24d D FstAY 36,000
< 18,000
Al 18,000
HIIS 2 392,993 153,000 239,993
= 96,825
< 14,000
Al 282,168
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HH: Clean & =4
S HIIE T (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HeesseelsH/AEgS 28,500 30,300 A 1,800
206 M= Hl 28,500 30,300 A 1,800
01 M= 4l 28,500 30,300 A 1,800
OMaEas =H =0t & 15,000 «8000H 12,000
ounges =1 1% 4,000& *1,0000H 4,000
OHAEX WEAIY MYIIsE 7Y
280&=10,0000H 2,800
OHAMX =HE 30,000& 504 1,500
OHEZS =8 (H=8) 7
24.,000& 504 1,200
omggzel=Ng 200,000 *204 4,000
O30l wa &K 7+ 500& =6, 0004 3,000
SZEHHE =H24= X& 132,493 111,700 20,793
= 13,000
< 13,000
Al 106,493
301 et d s 132,493 111,700 20,793
= 13,000
< 13,000
Al 106,493
12JEEd=s 132,493 111,700 20,793
Os=sZHHlE =H1243 1,324,930kg*100& 132,493
= 13,000
< 13,000
Al 106,493
MeEs3 wamel 2,000 1,000 1,000
< 1,000
Al 1,000
206 = Hl 2,000 1,000 1,000
< 1,000
Al 1,000
01 MHZ 8l 2,000 1,000 1,000
O30/ wa st&EX 2 500& *4,000H 2,000
< 1,000
Al 1,000
SSEGE &= ANIAY X 30,000 10,000 20,000
= 9,000
Al 21,000
401 AIEHIZL 20HEI 30,000 10,000 20,000
= 9,000
Al 21,000
01 A& HI 30,000 10,000 20,000
O=sdotd &= XA 5,000,000 «6IH & 30,000
= 9,000
Al 21,000
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HH: Clean & =4
o HOIE 2 CEE-ED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Mes subty XA 200,000 0 200,000
= 74,825
Al 125,175
401 Al HI K 201 I 200,000 0 200,000
= 74,825
Al 125,175
01 A& Bl 200,000 0 200,000
ON&s suUlty EXAtY
20,000,000& *109H £ 200,000
= 74,825
Al 125,175
SAEF HII= 2l 220,872 541,277 A 320,405
SASF HIl2 22l 35,925 5,100 30,825
201 Let24d] 35,925 5,100 30,825
01 At 22/l 35,925 5,100 30,825
OLPGHHA(HSE SAs =08 =)
33,000 255 825
OSAEMYI EEE HE
150% *13,00004 x23] 3,900
OSAMER HJIIZS M2lAE 23
100,000& »12& 1,200
OS4SR HIIE MaS8A(HAAl
150, 000& *200& 30,000
SASFE HII2 MelAE 29 22l 184,947 136,177 48,770
101 124l 50,068 82,271 A 32,203
04 JI12ZtHZ22HEE = 50,068 82,271 A 32,203
OSASRHIIZ MelAE 29 0= 50,068
o 118, 1302 » 1 »248Y 29,297
Fed 118, 130& 1 52 6,143
52 F+E 118, 130& 1. 5% 1H x52 9,215
42 E 44,655,000& x11% 4,913
A= Y oM 7Y 500,000& x1H 500
201 LBr2d| 113,879 26,570 87,309
01 At 2t 2l 17,879 8,570 9,309
OSFEAUI(AF L ALAA) 3,079
OAREHI(JIA L &EII&Hl) 6,000
OSAER HII2 E2lY HEX &4
2,200,000& »43| 8,800
02 =224l 96,000 18,000 78,000
OAE ZHI S X 96,000
206 M= Hl 21,000 27,336 A 6,336
01 MHZ 8l 21,000 27,336 A6,336
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S SAD
M. Clean & X4
el SAE2] Hole 22 CEERED)
- - _ =]
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
| | AFHMAHE LEH 21,000
HOI2 MelAa 29 22 3,771,944 4,749,220 ~977,276
2 366,000
Al 3,405,944
DA R JIHE HdEAE 29 608,739 1,121,081 A512,342
101 Q1A H| 521,597 385,470 136, 127
MIIZR2ZNEES 521,597 385,470 136, 127
OMEEHg oy 467,468
g 66,800 18 x2482 298,196
saae4y
(8,350 x4 Al 2t *1.5% 182 x512 )+(8, 350 +8 60,421
Al 2bx1.5x18% +82! )
fzZsYsy 66,800 * 183 x522 62,525
sz 421,142,000 *11% 46,326
OANE2ge oz 54,129
= 68,900 2% x2482 34,175
soa24y
(8,350 *4 Al 2H*1.5% 12 522 )+(8, 3502 *8 3,407
Al 2kx1.5+82)
szgusry 66,6302 x22 x50 6,930
sEEz 44,512,000 *11% 4,897
2 & b 2,360,0002 *2H 4,720
201 L2 A 64,442 31,721 32,721
01 A2 22l 5,600 4,300 1,300
OMEAE 2o 100,000 *120H & 1,200
OYsra 2| 2,000
OMEAS ®IOHEZZ 442
200,0002 *12% 2,400
02 2229t 58,842 27,421 31,421
OdgEAS &I
1,260kw*78. 682 *3002 +( 1, 260kw+78. 682 +300 30,842
2 )*3.7%
OMEANE 2523 10,000
OA&ZZH SXHI 18,000
206 M 2 H 22,700 20,700 2,000
01 W2l 22,700 20,700 2,000
ONegeEs 2s8 224 7Y
1,800 *3,000kg 5,400
OMEAE 221410 22 15,0002 *600% 9,000
OHEZE 418 (28) 7Y
85,0002 *60H 5,100
OBEUETR(ZT S) 22T 7
1,000,0002! *23 2,000
OZatAE ZYE 7 60,0002 *20H 1,200
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o
o
3]

. Clean &€& x4
?:HI2 HelANE 29 &2

(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
s =249 1,943,205 668, 139 1,275,066
101 @14 Hl 70,925 103,609 N 32,684
04 JIZHHZ2XNEE S 70,925 103,609 A 32,684
OUMIHEE FULAIE U2 50,163
=h= 66,8003 x2H x248 33,133
EQRY 8,350 *4 Al 2kx1.5+2H x512) 5,111
254 66,800 x2H x522 6,948
CAEE = 45,190,200& *11% 4,971
OHaigd &9 & M=z dfY 20,762
o 66,8003 x2H x120 16,032
2548 66,800 x2H 202! 2,672
. AHEE S 18,704,000& *11% 2,058
201 £B-2%H| 101,280 106,530 A5,250
01 At 22l 44,340 49,590 A5,250
O& &+ =ZZAHI
330,000& x123/+330, 0003 *43| x4 4 2 9,240
OZALE =& Z At 3,100,000& =43 12,400
OUAHBIE M40 MIlQtEBe| (@442
300,000& »12& 3,600
OAMNssa IEE SXdl 1,375,000 <400 & 5,500
ONg=Esy SX 22| 10,000
OUAMMEE ®IlEze aseg
200,000& 1200 & 2,400
OUAMHEE fBH 100,000& 12 1,200
02 =24l 56,940 56,940 0
OAl& &l Xl 18,000
OUEHIIZ IMAIE HIIQSOI2E+AER
) 38,940
ez 400KW 7,470 « 123 «68% 24,383
MNEZ 198.8kW 74 413 *4hr 246 Y 14,557
206 M= Hl 41,000 41,000 0
01 M= 4l 41,000 41,000 0
Olgd Zdxz5 & 40,000& *300= 12,000
O HEE 2cl=AHEI ¢
13,0002 » 1004 1,300
OMZIAIE 2X2clE 2220t AL S)
20,000 1001 2,000
ONg® 2el=x(B37 8) 228U 7
800, 000& *43] 3,200
Ogd M2 CHEMA 2
9,000& x2,500m’ 22,500
401 Al HIL 2Tl 1,730,000 417,000 1,313,000
01 A& HI 1,722,458 414,858 1,307,600
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2 8H
M Clean & =4
e HIIS2 HelAE 89 & (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OUAMMEE SETH EEALYE
40,000,000 *98.92% 39,568
Og & =H0ls XNEAY
90,000,000 x99. 10% 89,190
OZdAMEEZ HE Al F=H0OIS XSAY
100,000,000 *99. 10% 99,100
o278 ExAMY
1,500,000,000& *99.64% 1,494,600
03 AlE 201 | 7,542 2,142 5,400
OUAMMEE SEEM SALY
40,000,000 *1.08% 432
O & =H0I=2 2l AFESS
90,000,000 *0.9% 810
OBATIEE HEAL ZH0IS NAAY
100,000,000 *0.9% 900
ogEs312% &xX 1,500,000, 000 *0 . 36% 5,400
HIISXeAAE &= 1,220,000 2,960,000 A 1,740,000
= 366,000
Al 854,000
401 AlEHIZL 2 0HY| 1,220,000 2,960,000 A 1,740,000
= 366,000
Al 854,000
01 Al& H| 1,215,608 2,949,344 N1,733,736
Ot 54
1,220,000,000& *99.64% 1,215,608
= 366,000
Al 849,608
03 Al 20| 4,392 10,656 NB,264
Ot 54 1,220,000, 000& *0. 36% 4,392
MEHHE S 230,832 398,000 A 167,168
= 32,713
o= 14,071
Al 184,048
OrM S = TloH gkl 230,832 148,000 82,832
= 32,713
o= 14,071
Al 184,048
OS2 Ilol 0ol A 80,000 70,000 10,000
= 22,713
= 7,571
Al 49,716
402 SI2vXHE0| ™ 80,000 70,000 10,000
= 22,713
= 7,571
Al 49,716
02 QX E A E X (0| X TH) 80,000 70,000 10,000
OOt == Tlol oeAd 1,250,000 x64 A 80,000
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2M: 83
M MHAES
Hel: oS =S Lo (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 22,713
< 7,571
Al 49,716
Ors= 66,000 43,000 23,000
201 £B-2dH| 6,000 0 6,000
01 At 22l 6,000 0 6,000
O&ED XM 7 10,0002 1004 1,000
OtssE #x&8s 230X s 7€
500,000 x 104! 5,000
301 et a s 60,000 43,000 17,000
12 JIE24 3 60,000 43,000 17,000
ORNOIMESE LESAI(UARSZE L I
off &4 XI )
(100,000& 3000t 21 )+(50,000& «2400t 21 ) +(5, 50,000
000& *1,6000}2 )
O0tdsE #=U &=t 10,000
OS2I 2 & ALY 35,000 35,000 0
< 3,500
Al 31,500
301 et a3z 35,000 35,000 0
< 3,500
Al 31,500
12 JIEt2 43 35,000 35,000 0
OOt =SZ mol 2E&AY 35,000
< 3,500
Al 31,500
Ot E= TaHULASE (AIZ) 20,000 0 20,000
= 10,000
< 3,000
Al 7,000
405 XHoHF S HI 20,000 0 20,000
= 10,000
< 3,000
Al 7,000
01 AL ESFH S 20,000 0 20,000
OOtMESE ToluEAd X
4,000,000& =54 20,000
= 10,000
S 3,000
Al 7,000
=8 & 2 29,832 0 29,832
101 1A Hl 25,582 0 25,582
04 JIZHHZ2XNHEE S 25,582 0 25,582
Oxs+gm@el L LPAAY o2y
66,8003 x69 «5H 23,046
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0y

N = &

2 0z M
pgual
Mo H

e fol

=
ol

| o & X

0

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O4uEgE= 23,046,000 *11% 2,536
201 Bt A H| 4,250 0 4,250
01 At 22l ] 4,250 0 4,250
O=+=g8g%& I8 HHOUYH ¥ SIIAHXG &
Xt 425,000 x50 2«24 & 4,250
HMHEAY (2#ZF ) 4,696,403 3,684,016 1,012,387
olaady|(2&d 1) 4,671,983 3,659,476 1,012,507
ol | (& 1) 4,671,983 3,659,476 1,012,507
101 2121 d| 4,671,983 3,659,476 1,012,507
03 2IAHAZZXHE = 4,671,983 3,659,476 1,012,507
Q&P 22| (71¥ ,154 0] 8t) 4,562,768
=3 2,094,000& *71H «12& 1,784,088
d2d 2,094 ,000& *x71H x50%*23] 148,674
A2 3 110,000& «71H x12& 93,720
NEEY (LRI 40,0003 x65H x12& 31,200
NE=L(IIE}) 20,000& x90H x12& 21,600
ELg2KY) 60,000& «36H x12& 25,920
IS4+ (3XH) 100,000& *21H x12& 25,200
NG 125,000& 718 x12& 106,500
M 100,000 x718 x12& 85,200
doHZ A 160,000& «x71H x12& 136,320
HAE S| 2,094,000 x60%*23| x71H 178,409
PNIER=-1E:]| 365,000& *35H *4 3| 51,100
A2t 225
12,9833 *1.5x71H *x13Al 2t x12& 215,700
o224
12,983& *0.5%2 Al 2t*x71H x26 L x 12& 287,600
Fe22
103,870& 1 .5%x71H x5 x12& 663,730
ARSI F I 103,870& x71¥ 15 110,622
Bt& G 70,000& x1H ~12& 840
SRS 40,000& x4H x12& 1,920
E XS (H3EEH) 171,475,000& *3H 514,425
E| XA Z Z2HA A 80,000,000 *1&H 80,000
O&gs Y otX3 2 600,000 71 42,600
OMMEH 3,968,614,000& *0.8% 31,749
OFAHNY HXX ASOHHI 100,000& *71H 7,100
Oo=td&e|d HANLXKX AS
1,156,910 12 23| 27,766
Jl2AL (230 24,420 24,540 N 120
Jl2dd (83 n) 24,420 24,540 A 120
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2M: 83
B #N2ARY (BF D)
¢elr J23HI (23 1) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Le-2d| 15,000 15,000 0
01 At 22l 15,000 15,000 0
O= &l 15,000
203 YR =&l 9,420 9,540 A 120
04 FN2ELSZTH| 9,420 9,540 A 120
ORN2IL2FH| 9,420
HeRags(s2aun) 249,242 252,210 A 2,968
HEAHHK= 249,242 252,210 A 2,968
3EE3 249,242 252,210 A 2,968
702 JIS8ES 249,242 252,210 A 2,968
01 JI38&E= 249,242 252,210 A 2,968
OHIIZEXMAE FOAXNAIS(XAHIISE S
T 3) 825,884,000 x10% 82,589
OQHIIEMelAE =UXIAINS(HES) 150,000
OSASHIISHUANE FUXNZIIS(SLSE
THOHCH 2) 166,521,770& *10% 16,653
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